
8      www.bacgroup.com

Part # 	 Description
	 273 199 0780	 Standard brazing gun BB1/  
		  Easybond MKII

1 	 270 074 8150	 Ferrule holder for 8mm direct  
		  brazing pins
	 273 100 0560	 Ferrule holder for M8 threaded  
		  brazing pins
	 273 100 1240	 Ferrule holder for M10/M12  
		  threaded brazing pins
2 	 273 190 0560	 Front piece complete with locking ring
4 	 270 074 8160	 Locking ring
5 	 270 071 5600	 Pin holder for 8mm direct brazing pins
	 273 100 0550 	Pin holder for M8 threaded brazing pins
	 273 100 3870 	Pin holder for M10 threaded  
		  brazing pins
	 273 100 1230 	Pin holder for M12 threaded  
		  brazing pins
6 	 270 071 5610	 Spark shield
7 	 273 190 0570	 Contact nipple and washer (5 pack)
10 	273 074 8220 	Centre piece complete
12 	273 190 0580 	Ejector rod complete
16 	270 071 5340 	Remanence washer
17 	273 190 0590 	Conductor ring and insulating ring
20 	273 190 0600 	Trigger assembly
25 	270 071 5700 	Contact arm
26 	273 190 0110 	Contact set complete
27 	273 190 1310 	Cable 35mm sq. 2.7m long
28 	273 190 0610 	Tool kit

“�All Easybond MK II equipment,  
consumables and spare parts are  
normally ex stock and ready for same  
day delvery at our UK facility and at  
authorised distributors worldwide”

1 3 4 5 6 8 9 11 16

2 10

18 19

177

13 14 15

12

21 22 23

24 25
26

27

29

30

31 32

28

20

SPARE PARTS SPARE PARTS
PIN BRAZING PIN BRAZING

FOLD LINE




